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(1-2) Determine the third Taylor polynomial of the given function at x = 0.
1. f(z) = ze®.

2. f(z) = V1 — 2. Approximate v/0.16. How far are you from the actual value?

1
3. Determine the fourth Taylor polynomial of f(z) = at £ = 4. What is f(19(4)?
-z

4. Let f(x) = (x — 2)'0 + (z — 2)° + 2. What are f”(2), f®)(2) and £ (2)?

5. Let pa(x) be the second Taylor polynomial of f(z) = In(x) at z = 1.
(a) Use py to estimate In(.8).
(b) Show that |f®)(¢)] < 4 for ¢ > .8.

16
(c) Show that the error in using ps(.8) as an approximation for In(.8) is at most 3 1073,

Determine the sums of the following geometric series when they are convergent.

63+6+12+24 48+
5 25 125 625

32 34 36 38 310
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00
9. Z k . jR+LT
0

10. Show that .999 = 1.



